
k6rt al-o, +{r qrftL rr*Ir

fltnBFD',UT{r

s6r{r.D'qdrr"r qftrort Uw (ftrka) sffqmrf,r rfrffi (ft"d" os/zozr)
d qfrmrPfrqt A fas

strf, Trdwf f{+sr

1. rtqr qr qt q'fuc 'Tfiqryf ffiw' F vtrt gRilrr d qr+t"r ge w
lrhr-d "flrrlrrtr' sdttf' o.r f"fc= qreq of t

2. rrfrffi os t wn gRrol qrq *fr fr qe silww d dt fu vm gkor .n at
fuq \q Rrdri d ferfr sS t, GIFTTTI ge vtro sm gfuor w yE wqr mrflq
stfud t, wrd er< fr vs En gRrol w fuqqr sn-r of t

3. v+t gkor d qra cnf,rur yE q{ (i) qfur S qrq A frq frqlRd terrt w qfisr
trl ;IIIT (ii) frYq ftrsili d fuq f+fftf, err.it t rdo Tsrrq w frqq iF't ;tl-tt

(iii) rtm fr ftE d faq fflfRd rsrn v{ qftTr d ftfu (iv) qfreilptr d qrq d
6q frqfRd rsln q-{ srr;rr ;TrrT (v) crTfiqro A fuq furfftfr TprH Tt sFr;II

srgm..qro (cio.t \q qrqt t') ftflt t

4. T6 sF A qrfr ejdt or wse vds ori gv sf,d qr+rt yfi Hrer fr flflt,
grd <r< fr Wt tr{FT iFT v+r fuJ t

s. v+t gkor d err*ur IF6 w t+ffrd reII"T qq sf,Ril sw d mq rrcqr (serial

No. of Answered euestion) d Hrri Yg Tiqr (frrfl YE w eilqi skt II5 iD-t

vrt fuqr d) er+w fmt r

6. srrrnur yE qr ffi Gtfu'd o,-tt Htrd fiW vrt gRror tt qr+fl vo fr
srfr. ffi qersr o,rfr v.I 6 srfr t ftRtt EN gkdT d E€f 6re r.I +
sr$ or rft1 6 6€t ffi r.r d sr$ or rftr qffid g 

1

t- qfrffieffi d fdg HrEn{q dcgilct (simple calculator} qlrd t t qfier raq d
Calculator tF,t 3il-Erq-rErq {uiilqr qftfu t t

B. sr& Tffii w firo rrr EfirTrs(/ofrrqrun ffq{q ow d I ER gRilrr tt

$rd sTfrfuffi ftrfi fr erq {r o1 sr& or rfr.r qftfu t t

e. grffi d gce frgGTf d tgio,rr d rfr erq w d wrfr, Erffi*. tiT t{,
Sq t{, frildr t{, ilfud gsrfq or rfrr qftfu t t

ftq qFfu o'rg"n' t qrrol Ert qfua1 ('E gffi TE iDa fr
lrri$t-
G) vm gkor d erqqur IF w f+ffrd *ern d sTfrfrffi o-€f $ frffi ot qrq,

crf,rqro, Nd qwr, srqifuH GtotZsrqt of frqqr t

(2) vw gfrror d eir+q"r gE qr qfrrorzfiero d rwmq A ftTq f+fRf, rett;I rl-{

sTqqr qrq,/ffiren Gtfud ogr I

€) q{ ftrqi t $qfrrd qr+ff tt gti o,r qrqlrrdT oifud osqt I

(a) w+t gkor d €rf,-{t or v-frr 6EIt



-2-

(s) vtrt gk6, it fttfr rfi'R iDT Hdffi vrq; gql Sorry, Thank you, s{ at +qur $Tqf,

Trr qH or frlog EerR tilq{r I

(o) srt gkor tf ot$ te rrrqr I

fuq qFfu o,xqi' t qrrol \ltrr qrrat s$+*rft of qr
sofr t:-
(1) vw gRror d frrfr r6rt ?Dr qfi{o, fue cqr+, dt- &, H, G, X, 1}, zes {eurfr

(2) vw gkot t qrffi6 trq fuqqr, dt - ,X qfuno qq:, qq Errrffir, qq r6r*q,

fr, erqr, Grrr q61 fr, erare Esrfr
(s) v+r gkor d d.rt ffrsfl, dt - qq Bq crq qnd, qq ftfuai+a, qq sqn

{srR
(a) gfililt VtItkI frt W frtq fuE Of fqtf q;qqf, dt- +**-:t:i*-***, ----xxx---

{grR
frffi ron 6l rrgqrE fueZ*i+o fue oifuo owr,

sw dqr 6t f{tq ron t 3nqfr/t{ q=ffir{ frk osr
(s)

(6)

f*.""
qfrHr ftsTo,,

fr6m dto. +qr sTrdrr, tre=il I




